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Directions: For each graph find the x-intercept and the y-intercept.
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Maximums and Minimums

Directions: For each graph find the absolute maximum and minimum.
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Intervals of Increase and Decrease
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y— Vielwe = Directions: For each graph that is a function, find the intervals of increase and decrease.
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Intervals of Increase and Decrease
Directions: For each graph that is a function, find the intervals of increase and decrease.
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Distance from
start in feet
»

1. Find d(0)=0 2. Findd(1)=J~ 3. Findd@)= 2

4. Findd(t)=0 5. Find d(t)=3 6. Find d(t)=2
=0 tu(S,3> t'—‘; yees G

Determine the function values by looking at the graphs below.

- t.lu..
(-3,2) i
- [ta=y
0.0 @21 3
" - = x...wlu-'l»
= —
) 4,-1)
(=5,-2) 1
Graph of f
1. Find f(0)= | 2. Find (-3) =& 3. Find d(2)= |
4. Find f(x)=-2 5. Find f{x)=1 6. Find f{x)=0
X=~5 X=2 )& X==-1, 1,3
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l.  ‘What is the domain of fix)? 2. What is the range of f{x)?
C__!) 5] E" ) -:73
als)
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(2.1%5) (18, 15) 2 15
151 Z 3
6 0
10 -15
14 -15
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3 4 6N.8 10 12 14 A6 18 e
18 15
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(10, <15) (14, -1%)
1. What is the domain of a(t)? 2. What is the range of a(t)?
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(3, 3)

X fix)
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1] 2

- . . *— + x
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=7.-1) 5.-1) [3 -1

. What are the coordinates of the point where f{x) has an absolule maximum value?

(%)

2. What are the coordinates of the point where f(x) has an absolute minimum value?

" Ee1) (5,)
3. Find the x-intercept. 4. Find the y-intercept.
(-2,0) (z,0) (2,2)
(l-l .5,0)

alr)
(ffsec) 1 alt)
(2, 15) 118, 15 0 LS
154 2 15
6 0
10 -15
(4] i {seconds) 14 -15
2 4 L6 0
18 15
15
(10, <15y (14, -15)

. What are the coordinates of the point 3. What are the coordinates of the point
where a(t) has an absolute maximum where a(t) has an absolute minimum
value? ALt &2 J = =/g value? [0;—'_5 _é / Yy

2 Fi = .

2. Find the x-intercept. 4. Find the y-intercept.
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(3, 3)
X fix)

-7 -

’ 2|0

. ik . L0 2

[ | 2 [1]

1 3 3

=7.=1) (5.-1) 5 -
1. Is fix) continuous? V‘S 3. On what intervals is f(x) increasing?

1,0) (7 5)

2. On what interval is f{x) constant? 4. On what intervals is f{x) decreasing?

fone (o) (3,5)

aii)

{fhsec’) 1 a(t)
(2,15) (18, 15) 0 15
13 2 15
3] 0
10 -15
V] ¢ {seconds) 14 -15
a 4 18 16 0
18 15
15
1. Is a(t) continuous? \F,c s 3. On what mtervals is a(t) increasing?
CI,1%)
2. On what interval is a(t) constant? 4. On what intervals is a(t) decreasing?
(2,%) (lo,4 (a,10)
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